
 

 

(𝑢𝑛)

𝑢0 = 3

𝑢1 = 8

𝑢2 = 13

𝑢3 = 18

{
𝑢0 = 3               
𝑢𝑛+1 = 𝑢𝑛 + 5

(𝑢𝑛)

𝑟 𝑛 𝑢𝑛+1 = 𝑢𝑛 + 𝑟

𝑟 

−2.



 

(𝑢𝑛) 𝑟

𝑢0

𝑛 𝑢𝑛 = 𝑢0 + 𝑛𝑟

   

𝑢𝑛 = 𝑢1 + (𝑛 − 1)𝑟

(𝑢𝑛) 𝑟

𝑟 > (𝑢𝑛)

𝑟 < (𝑢𝑛)

𝑢𝑛+1 − 𝑢𝑛 = 𝑢𝑛 + 𝑟 − 𝑢𝑛 = 𝑟

𝑟 > 𝑢𝑛+1 − 𝑢𝑛 > 0 (𝑢𝑛)

𝑟 < 𝑢𝑛+1 − 𝑢𝑛 < 0 (𝑢𝑛)



 



 

(𝑢𝑛)

- 𝑟

- 

𝑢0

𝑟 = −0,5 𝑢0 = 4

𝑢𝑛+1 = 𝑢𝑛 + 𝑟

𝑢𝑛+1 = 𝑢𝑛 − 0,5

−0,5

𝑢𝑛 = 𝑢0 + 𝑛𝑟 𝑢𝑛 = 4 − 0,5𝑛

𝑟 > (𝑢𝑛)

𝑟 < (𝑢𝑛)

𝑟 = −0,5 < 0

(𝑢𝑛)

 

(𝑢𝑛)

𝑢0 = 5



 

𝑢1 = 10

𝑢2 = 20

𝑢3 = 40

{
𝑢0 = 5         
𝑢𝑛+1 = 2𝑢𝑛

(𝑢𝑛)

𝑞 𝑛 𝑢𝑛+1 = 𝑞 × 𝑢𝑛

𝑞

𝑢1 = 1,04 × 500 = 520
𝑢2 = 1,04 × 520 = 540,80
𝑢3 = 1,04 × 540,80 = 562,432

𝑢𝑛+1 = 1,04 × 𝑢𝑛 𝑢0 = 500

(𝑢𝑛) 𝑞

𝑢0

   

𝑢𝑛 = 𝑢1 × 𝑞𝑛−1



 

(𝑢𝑛) 𝑞

𝑢0

𝑢0 > 0

𝑞 > 1 (𝑢𝑛)

0 < 𝑞 < 1 (𝑢𝑛)

𝑢0 < 0

𝑞 > 1 (𝑢𝑛)

0 < 𝑞 < 1 (𝑢𝑛)

• 𝑞 = 1

• 𝑞 ≤ 0



 

(𝑢𝑛)

- 𝑞

- 𝑢0

𝑞 = 2 𝑢0 = −4

𝑢𝑛+1 = 𝑞 × 𝑢𝑛

𝑢𝑛+1 = 2𝑢𝑛

𝑢𝑛 = 𝑢0 × 𝑞𝑛 𝑢𝑛 = −4 × 2𝑛

𝑢0 > 0

𝑞 > 1 (𝑢𝑛)

0 < 𝑞 < 1 (𝑢𝑛)

𝑢0 < 0

𝑞 > 1 (𝑢𝑛)

0 < 𝑞 < 1 (𝑢𝑛)

𝑢0 = −4 < 0
𝑞 = 2 > 1

(𝑢𝑛)

𝑞 < 0



 

 

𝑛 1 + 2 + 3 + ⋯ +

𝑛 =
𝑛(𝑛+1)

2

𝑛

𝑛 𝑞

1 + 𝑞 + 𝑞2 + 𝑞3 + ⋯ + 𝑞𝑛 =
1−𝑞𝑛+1

1−𝑞

𝑛 + 1

𝑞


